
KELDERMAN CREATION DATE: 4/4/2024 REVISED DATE: 4/4/2024 

2019+ GM 4500-6500 CAB CHASSIS 1 10029410 

I
N

S
T
A
L
L
 
I
N

S
T
R

U
C

T
I
O

N
S

 

10029410 

COMMANDER GRILLE GUARD

- ALPHA SERIES BUMPERS 

2019+ GM 4500-6500 CAB 

CHASSIS 



KELDERMAN CREATION DATE: 4/4/2024 REVISED DATE: 4/4/2024 

2019+ GM 4500-6500 CAB CHASSIS 2 10029410 

T
A

B
L
E
 
O

F
 
C

O
N

T
E
N

T
S

 

 Kit Numbers……………………………………………(3) 

 Introduction………………………………………….(4) 

 Safety……………………………………………………(5) 

 Product Owner Responsibilities………….….(6) 

 Grill Guard Preparation…………………………(7) 

 Installation with bumper……………………(8-12) 

 Kit Drawings…………………………………………(13) 

 Notes……………………………………………………(14) 

 Contact Information………………………………(15) 



KELDERMAN CREATION DATE: 4/4/2024 REVISED DATE: 4/4/2024 

2019+ GM 4500-6500 CAB CHASSIS 3 10029410 

K
I
T
 
N

U
M

B
E
R

S
 

 - This installation manual covers the following air ride kits. 

Kit Number Description 

10029410 

2019+ GM 4500-6500 CAB CHASSIS - ALPHA 

SERIES BUMPERS - COMMANDER GRILLE GUARD 

2019 CHEVROLET 4500 HD SHOWN 



KELDERMAN CREATION DATE: 4/4/2024 REVISED DATE: 4/4/2024 

2019+ GM 4500-6500 CAB CHASSIS 4 10029410 

I
n
t
r
o
d
u
c
t
i
o
n
 

Important  

 It is important that the entire installation instructions be read thoroughly before proceed-

ing with installation.  

 If your kit was ordered raw, open every box and locate all parts. There are several smaller 

bushing pieces and bolts that are packaged separately inside the main box.  

 

Product Installer Responsibilities  

 Installer is responsible for installing this product in accordance with Kelderman Mfg. Inc. 

specifications and installation instructions.  

 Installer is responsible for providing proper installation of vehicle components and  at-

tachments as well as required or necessary clearance for suspension components, axles, 

wheels, tires, and other vehicle components to ensure a safe and sound installation and 

operation of this product.  

 

Definition of Terms  

 Warning: Indicates a potentially hazardous situation which, if not avoided, could result in 

death or serious injury.  

 Caution: A potential hazardous situation may result in property damage.  

 Note: Provide information or suggestions that help correctly perform a task.  

 Torque: When italicized “torque” alerts the installer to tighten fasteners to a specified 

value.  



KELDERMAN CREATION DATE: 4/4/2024 REVISED DATE: 4/4/2024 

2019+ GM 4500-6500 CAB CHASSIS 5 10029410 

S
A
F
E
T
Y
 

Your Safety and the Safety of Others is Very Important.  

 Read and understand all safety precautions and instructions before installing this product.  

CAUTION: Trucks Equipped with Parking Sensors or Other Like Devices.  

 Relocation of these devices will alter the field of view. It is the responsibility of the owner to      

understand how these changes affect the operation of these systems.  

WARNING: Components Under Pressure.  

 Bleed all pressure from the air system before performing any maintenance or service. Serious injury 

could occur if components are removed while system is pressurized.  

WARNING: Careless Installation Can Result in Serious Injury or Property Damage  

 Wear eye protection.  

 Disconnect the battery before doing any work on the vehicle.  

 Work on flat level ground.  

 Ensure truck is properly supported by jack stands. Never work under a vehicle supported only by 

hydraulic jacks.  

 Take precautions when lifting product. Due to the size and weight of this product two people are  

recommended for installation.  

 Never work directly under the product until it has been securely fastened to the vehicle.  

 Avoid sharp, hot, and moving components when routing electrical cables and air lines.  

 If drilling, inspect both sides of the surface and remove/relocate any objects located in the way.  

 Ensure all bolts are properly tightened before driving.  



KELDERMAN CREATION DATE: 4/4/2024 REVISED DATE: 4/4/2024 

2019+ GM 4500-6500 CAB CHASSIS 6 10029410 

P
r
o
d
u
c
t
 
O

w
n
e
r
 
R

e
s
p
o
n
s
i
b
i
l
i
t
i
e
s
  

 Product owner is solely responsible for pre-operation inspection, periodic inspec-

tions, maintenance, and use of the product as specified by Kelderman Mfg. Inc. Of 

particular importance is the re-torque of fasteners.  

 

 This re-torque must be performed within 2500 miles of this product being put into 

service. 

 

 Product owner is responsible for “down time” expenses, cargo damage, and all busi-

ness costs and losses resulting from a warrantable failure.  

 

Service Intervals 

First 2,500 Miles 

 Check for any loose or rubbing hoses and wires. 

 Re-torque all hardware. 

Every 30,000 Miles 

 Check for any loose or rubbing hoses and wires. 

 Re-torque all hardware. 



KELDERMAN CREATION DATE: 4/4/2024 REVISED DATE: 4/4/2024 

2019+ GM 4500-6500 CAB CHASSIS 7 10029410 

G
R

I
L
L
E
 
G

U
A

R
D

 
P
R

E
P
A
R
A
T
I
O

N
  before painting, open every box and locate all parts. some items are packaged   sep-

arately inside the main box. 

 

 CAUTION: Kelderman Mfg. Inc. cannot guarantee correct out of the box fitment 

across all light brands and sizes. The installer is responsible for test fitting all 

lights into the grill guard and making any required modifications before the guard 

is sent to paint. This guard, if optioned, has been designed to utilize the following 

Rigid Industries lights. 

 

A) Sq. Channel with Rigid Industries SR-SERIES 20 Inch Light (33-5/16” 

Pocket Centers) 

B) Sq. Channel No light (33-5/16” Pocket Centers) 

A or B 



KELDERMAN CREATION DATE: 4/4/2024 REVISED DATE: 4/4/2024 

2019+ GM 4500-6500 CAB CHASSIS 8 10029410 

I
n
s
t
a
l
l
a
t
i
o
n
 
W

I
T
H

 

B
u
m
p
e
r
 

 This section covers how to install a Commander grille guard and Alpha bumper  

simultaneously. 

 

 See Alpha Series Front Bumper Installation Manual for factory Bumper Removal 

and Kelderman Bumper Preparation instructions.     

 

 Perform the steps listed below in place of the first three steps in the Bumper    

Assembly portion of the Kelderman Bumper Installation Manual. 

 

 On a clean flat non-scratching surface place the Alpha bumper center section. If 

it’s a Delta bumper the grille guard can be mounted with bumper on the truck. 

 

 When installing grille guard on a bumper mounted to the truck make sure only 

bolt the (3) inner bolts on each side, as the other (4) bolts in the pocket will be 

used for install grill guard. 



KELDERMAN CREATION DATE: 4/4/2024 REVISED DATE: 4/4/2024 

2019+ GM 4500-6500 CAB CHASSIS 9 10029410 

I
n
s
t
a
l
l
a
t
i
o
n
 
W

I
T
H

 

B
u
m
p
e
r
 

1. Install Pin Lock weldments (#10029406) into pockets of the center section of 

bumper with (2) 1/4” thick washers (#11551) over the welded in bolts on the back of 

the pick lock weldments before installing into bumper pockets. Hex nuts will be used 

to fasten down for this portion so they can be removed. The final portion of installa-

tion will use lock nuts.  

1/2”20 Hex Nuts & Washers 

Install Pin Lock weldments into slots in 

the pocket of the center section of bumper 

1/4” Thick Washers 



KELDERMAN CREATION DATE: 4/4/2024 REVISED DATE: 4/4/2024 

2019+ GM 4500-6500 CAB CHASSIS 10 10029410 

I
n
s
t
a
l
l
a
t
i
o
n
 
W

I
T
H

 

B
u
m
p
e
r
 

2. Install Horn weldments (#10029361-PS & #10029368-DS) to the bumper pockets 

with provided 7/8”-9 x 7” bolts. Make sure to put (2) sealing washers (#80375) on 

each side of the weldments as you install the bolt through the pocket. Make sure to 

install grease zerks (#13284) before install horns in bumpers. 

Holes face to 

the inside for 

each weldment 

Each side gets (2) 

Washers (#80375) 

At this point the larger 

bumper (#80362) can be 

installed on each side 

with 1/4”-20 x 1/2” 

socket head bolts 

7/8”-9 x 7” Bolt 

Zerk orientation 



KELDERMAN CREATION DATE: 4/4/2024 REVISED DATE: 4/4/2024 

2019+ GM 4500-6500 CAB CHASSIS 11 10029410 

I
n
s
t
a
l
l
a
t
i
o
n
 
W

I
T
H

 

B
u
m
p
e
r
 

3. Install (2) square channel weldments (#10029391) with 3/8”-16 x 1-1/4” bolts, 

washers & lock nuts. Top hole of channel will bolt into top hole of the horn      

weldment. For the second channel, leave (4) holes in between the next top hole of 

the second channel. Install bolts shown below with a hole in between bolts. 

 

Use provided hitch pin to keep 

horns upright when install 

square channel weldments 



KELDERMAN CREATION DATE: 4/4/2024 REVISED DATE: 4/4/2024 

2019+ GM 4500-6500 CAB CHASSIS 12 10029410 

I
n
s
t
a
l
l
a
t
i
o
n
 
W

I
T
H

 

B
u
m
p
e
r
 

4. Once channels have been installed, remove 1/2” hex bolts from pin lock weldments 

and replace with 1/2” lock nuts and tighten down. Make sure to keep the hitch pins 

installed when tightening down bolts and to check after that the pins can still be 

removed with relative ease. 

 

5. If purchased with lights, locate 20” light bar and assemble in channel opening 

with provided light hardware. A pigtail wiring harness will be provided to wire the 

lights to the truck. Locate the light wiring diagram from the light box and follow for 

instructions. 

 

6. install small bumpers on the front of the pin lock 

weldments with #10-24 x 3/4” bolts, washers, split lock 

washers and hex nuts. These should keep the grille 

guard tight when pinned and avoid excess rattling. 

 

7. Check all hardware for tightness 

and make sure to grease the 7/8” 

bolt with grease zerk. Verify that  

after tightening the hitch pin can 

still be   removed with  relative ease. 

Bumper on front of pin lock may have  

to be ground down in certain  

circumstances if the hitch pin is too  

Tight when trying to remove. 



KELDERMAN CREATION DATE: 4/4/2024 REVISED DATE: 4/4/2024 

2019+ GM 4500-6500 CAB CHASSIS 13 10029410 

K
i
t
 
D

r
a
w

i
n
g
s
 



KELDERMAN CREATION DATE: 4/4/2024 REVISED DATE: 4/4/2024 

2019+ GM 4500-6500 CAB CHASSIS 14 10029410 

N
O

T
E
S

 



KELDERMAN CREATION DATE: 4/4/2024 REVISED DATE: 4/4/2024 

2019+ GM 4500-6500 CAB CHASSIS 15 10029410 

 

C
O

N
T
A
C

T
 
I
N

F
O

R
M

A
T
I
O

N
 

Kelderman Manufacturing appreciates your busi-

ness. We strive to meet the needs of our custom-

ers by providing the highest quality products. If 

you have any questions concerning our products 

please call or email us at the following: 

2686 Highway 92 

Oskaloosa, Iowa 52577 

Phone: 1-800-334-6150 

Email: info@kelderman.com 

SCAN QR CODE 

FOR KELDERMAN 

WARRANTY PAGE 

See YouTube page for additional videos: 

https://www.youtube.com/user/keldermantrucks 


